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 32 x 0.3125’’ + 0.375 = 10. 375’’

PLATE 4’’ x  3/8 ’’

PLATE 10. 375’’ x  5/16 ’’ 3. 242
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1.949
=  2. 309 ksi << allow = 20 ksi

Column Face Column Face

to c/l Hinge to c/l  1  1/2 ’’ Bearing Bar
Span = Opening +                        +

Span =  24. 0   +      1. 08       +      0. 60       =    24. 68 ’

TOP GIRDER

Try  W14 x 34 ( 5/16 ’’ min thickness requirement)

M =  1/8 w  =  1/8 (0. 12)(24. 68)  = 9. 14 ft-k
2

per AISC 1. 5. 1. 4. 1 and EM 1110 - 1 - 2101

Load,  w = 0. 12 k/ft

f  =    =           = 2.26 ksi < 20. 0 ksi,  ok use W14 x 34
M
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Load,  w = 0. 39 k/ft

M =  1/8 w  =  1/8 (0. 39)(24. 68)  = 29. 69 ft-k
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Try TS 1 4 x 6 x  3/8 , S =48.1 in  S =29.7 in
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LAKE PONTCHARTRAIN, LA. AND VICINITY

DESIGN MEMORANDUM NO. 20 GENERAL DESIGN

ORLEANS PARISH - JEFFERSON PARISH

17TH. STREET OUTFALL CANAL

( METAIRIE RELIEF )

H-2-30300

HIGH LEVEL PLAN

SWING GATE DESIGN
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P= 1/2 (0.512)(8.0)=2.048 K/FT

2.04 (2.048)

7.07
= 0.59 K/FT

2.048 - 0.59 = 1.458 k/FT

LOADING

LOAD CASE = SW + 2’ (133% LAOD CASE)

= 1.094 k/FT
2

R  AT 75% = = 0.44 K/FT

R  AT 75%    =


